
F_gx � 4-1

4 IZjZf_lju

F_gx��

4.1 <\_^_gb_

Wd\b\Ze_glgu_ iZjZf_lju

Ijh]jZffgh_ h[_ki_q_gb_ Ijb\h^Z kh^_j`bl

[hevrh_ dhebq_kl\h iZjZf_ljh\� \dexq_gguo \ F_gx
� b mihfbgZ\rboky \ur_� Kibkhd wlbo iZjZf_ljh\

^Zg \ =eZ\_ � IZjZf_lju \ukhdh]h mjh\gy� hgb
iheghklvx hibkZgu \ Bgkljmdpby Ihevah\Zl_ey
<ukhdh]h Mjh\gy.

IZjZf_lju \ F_gx � ij_^klZ\eyxl kh[hc

[ukljh^hklmigu_ dhibb gZb[he__ mihlj_[bl_evguo
iZjZf_ljh\� gZoh^ysboky \ f_gx \ukhdh]h mjh\gy�
Ijb hibkZgbb iZjZf_ljZ \ wlhc ]eZ\_ \ kdh[dZo ih^
_]h ghf_jhf \ F_gx � ijb\_^_g ghf_j
wd\b\Ze_glgh]h iZjZf_ljZ \ukhdh]h mjh\gy.

Nmgdpbb iZjZf_ljh\ hl 0.11 ^h 0.30 fh]ml [ulv
baf_g_gu ihkj_^kl\hf ijh]jZffbjh\Zgby
iZjZf_ljh\ hl 11.01 ^h 11.20 (kfhljb Bgkljmdpbx
Ihevah\Zl_ey <ukhdh]h Mjh\gy).

H[hagZq_gby

Lbi iZjZf_ljZ

RO Lhevdh ql_gb_

RW Ql_gb_�aZibkv

...selector <u[hj ba jy^Z gZkljh_d

...select <u[hj ba ^\mo gZkljh_d

...enable AZklZ\blv beb jZaj_rblv \uihegylv
nmgdpbx

...disable HklZgh\blv beb aZij_lblv \uiheg_gb_
nmgdpbb

...indicator AgZq_gb_ fh`_l [ulv lhevdh ijhqblZgh

H]jZgbq_gby bkihevah\Zgby

R >he`gZ [ulv \uiheg_gZ hi_jZpby K;JHK
(RESET� ^ey lh]h� qlh[u gh\u_ agZq_gby
iZjZf_ljh\ \klmibeb \ ^_ckl\b_.

S Gh\h_ agZq_gb_ iZjZf_ljZ khojZgy_lky� dh]^Z
iblZgb_ i_j_f_ggh]h lhdZ hldexqZ_lky hl
Ijb\h^Z.

P AZsbszgguc iZjZf_lj� dhlhjuc g_ fh`_l
[ulv bkihevah\Zg dZd iZjZf_lj gZagZq_gby
^ey ijh]jZffbjm_fh]h \oh^Z �ijbf_gy_lky \
=eZ\_ � IZjZf_lju <ukhdh]h Mjh\gy).

>bZiZahgu

Bi Baf_gy_fuc iZjZf_lj� bf_xsbc
^\moiheyjguc ^bZiZahg agZq_gbc

Uni Baf_gy_fuc iZjZf_lj� bf_xsbc
h^ghiheyjguc ^bZiZahg agZq_gbc

Txt Baf_gy_fuc iZjZf_lj� bf_xsbc l_dklh\h_

ij_^klZ\e_gb_ gZ ^bkie__� Jy^hf k
mklZgh\e_gguf agZq_gb_f \uk\_qb\Z_lky

ghf_j� wlh hlh[jZ`Z_lky gZ kbkl_fghf
dhgljhee_j_� _keb bkihevam_lky k\yav q_j_a
ihke_^h\Zl_evguc bgl_jn_ck�

Bit ;blh\uc �^\hbqguc� iZjZf_lj

FLC Lhd iheghc gZ]jmadb �LIG� fZdkbfZevguc
ijh^he`bl_evguc \uoh^ghc lhd� �kfhljb
Ijbeh`_gb_ D >Zggu_)

Kbf\heu

Ö AgZq_gb_ ih mfheqZgbx �gZkljh_ggh_ gZ
aZ\h^_�ba]hlh\bl_e_�

Ú >bZiZahg agZq_gbc

[...] MdZau\Z_l agZq_gb_ �kh^_j`bfh_� iZjZf_ljZ

~ IhdZau\Z_l ^bZiZahg agZq_gbc iZjZf_ljZ �\

kemqZ_ ^\hbqguo [blh\uo iZjZf_ljh\ ~
hagZqZ_l beb).

DZl_]hjbb

IZjZf_lju jZa[blu gZ ke_^mxsb_ dZl_]hjbb:

0.00 Dhgnb]mjZpby

0.01 ~ 0.02 Ij_^_evgu_ agZq_gby kdhjhklb

0.03 ~ 0.06 Ebg_cgu_ baf_g_gby �jZfiu�

kdhjhklb
<u[hj kihkh[Z aZ^Zgby kdhjhklb
Ij_^_evguc lhd

0.07 ~ 0.09 Nhjkbjh\dZ gZijy`_gby

�jZahfdgmlZy kbkl_fZ)
Dhwnnbpb_glu mkbe_gby
ijhihjpbhgZevgh]h� bgl_]jZevgh]h b
^bnn_j_gpbZevgh]h a\_gv_\
(aZfdgmlZy kbkl_fZ)

0.10 ~ 0.13 L_dmsbc dhgljhev

0.14 ~ 0.17 J_`bf lheqdZ

<u[hj lbiZ ebg_cgh]h baf_g_gby
kdhjhklb
<u[hj kihkh[Z hklZgh\Z b j_`bfZ
j_]mebjh\Zgby fhf_glZ

0.18 ~ 0.19 S-h[jZaguc aZdhg baf_g_gby
kdhjhklb �S – jZfiZ�

0.20 ~ 0.23 >bZiZahgu ijhimkdZ_fuo qZklhl

0.24 ~ 0.26 J_`bfu jZ[hlu ZgZeh]h\uo \oh^h\

0.27 ~ 0.34 JZagh_

0.35 L_dmsbc dhgljhev ijb mijZ\e_gbb k
dghihqghc iZg_eb

0.36 ~ 0.38 IZjZf_lju ihke_^h\Zl_evgh]h

bgl_jn_ckZ
IZjZf_lj� \uk\_qb\Z_fuc gZ
^bkie__ ijb \dexq_gbb iblZgby

0.39 ~ 0.41 KbgojhgbaZpby k \jZsZxsbfky

^\b]Zl_e_f
KZfhgZkljhcdZ
QZklhlZ i_j_dexq_gbc RBF

0.42 ~ 0.47 IZjZf_lju ^\b]Zl_ey

0.48 <u[hj j_`bfZ jZ[hlu Ijb\h^Z

0.49 ~ 0.50 BgnhjfZpby h khklhygbb Ijb\h^Z
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<u[hj kb] gZeZ aZ^Zgby

AZ^Zgb_ j_]mebjh\Zgby

qZklhlu � �̂ bklZgp��

AZ^Zgb_ j_]mebjh\Zgby

qZklhlu � �gZ f_kl_ �

MijZ\e_gb_

k dghihqghc
iZg_eb

Ij_pbabhggh_ aZ^Zgb_
(k F_gx � g_

bkihevam_lky�

AZ^Zgb_ \

lheqdh\hf
j_ b̀f_

Ij_^\Zjbl_evgh mklZ �

gh\e_ggu_ aZ^Zgby �k
F_gx � g_ bkiheva ��

<u[hj lheqdh�

\h]h j_ b̀fZ
IJYFH?

<J:S?GB?

H;J:LGH?

<J:S?GB? K;JHK

<k_ iZjZf_ljuihdZaZguijb gZkljhcd_ ih m fheqZgbx

0.24
5

6

7

0.35

0.14

0.25

:gZeh]h\uc \oh^

1 \u[hj j_`bfZ

:gZeh]h\uc \oh^
2 \u[hj j_`bfZ

0.26

:gZeh]h\uc
\oh^ �\u[hj

gZagZq_gby

0.05

<u[hj

aZ^Zgby

29

G: F?KL?  /
>BKL:GPBHGGH

26 27 28

FbgbfZevgZy

qZklhlZ

FZdkbfZevgZy
qZklhlZ

0.01

0.02

0.20

0.21

0.22

0.23

IjhimkdZ_fZy

qZklhlZ �

>bZiZahg

ijhimkdZ_fuo

qZklhl �

IjhimkdZ_fZy
qZklhlZ �

>bZiZahg
ijhimkdZ_fuo

qZklhl �

IjhimkdZ_fu_

qZklhlu

IZjZf_lj �

ihdZau\Z_fuc
ijb \dexq_gbb

Ijb\h^Z

0.38

25 30

<G?RG??

HLDEXQ?GB?

 Jbkmghd 4–1 Eh]bq_kdZy ^bZ]jZffZ F_gx � ^ey jZahfdgmlhc kbkl_fu   
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Ebg_cgu_
aZdhgu

(jZfiu�

<_ebqbgZ
mkdhj_gby

<_ebqbgZ

aZf_^e_gby

<u[hj lbiZ

ebg_cgh]h
aZdhgZ �jZfiu�

S-h[jZagh_ j_]meb �
jh\Zgb_ jZaj_r_gh

S-h[jZaguc aZdhg
k h]jZgbq_gb_f
da/dt

<u[hj
j_ b̀fZ j_] �

fhf_glZ

Q:KLHL: FHF?GL

MijZ\e_gb_

^\b]Zl_e_f

Ij_^_evguc lhd <u[hj j_ b̀fZ

j_] �gZijy _̀gby

KbgojhgbaZpby k
\jZsZxsbfky

^\b]Zl_e_f

>bgZfbq_kdbc

\u[hj 9�I

Hp_gdZ
kdhjhklb

^\b]Zl_ey

:dlb\guc lhd
^\b]Zl_ey

0.16

0.39
0.03

0.04

0.15

0.18

0.19

L_dm s__ agZq_ �

gb_ qZklhlu
i_j_^ jZfihc

L_dm s__ agZq_ �

gb_ qZklhlu
ihke_ jZfiu

0.11 0.12

S-h[jZaguc aZdhg

0.17

F_gx 4

0.06 0.07

Nhjkbjh\dZ
gZijy _̀gby

0.08

0.09

<u[hj j_ b̀fZ

hklZgh\db

Qbkeh ihexkh\ �
Dhwnn� fhsghklb �

GhfbgZe�gZijy �
`_gb_ �GhfbgZev �

gZy kdhjhklv �Ghf�
lhd �Ghf�qZklhlZ

QZklhlZ i_j_ �
dexq_gbc RBF

0.41

0.42 ~ 0.47

IZjZf_lju

^\b]Zl_ey

0.10

0.13

J_] �gZijy _̀gby

^\b]Zl_ey

Kbeh\Zy qZklv

9 10 24

IJB <J:S?GBBL?JFBKLHJ

8



F_gx � 4-4

 

<u[hj kb] gZeZ aZ^Zgby

AZ^Zgb_ j_]mebjh\Zgby

kdhjhklb � �̂ bklZgp��

AZ^Zgb_ �j_]mebjh\Z �

gby kdhjhklb �gZ f_kl_ �

MijZ\e_gb_ k

dghihqghc
iZg_eb

Ij_pbabhggh_ aZ^Zgb_
(k F_gx � g_

bkihevam_lky�

AZ^Zgb_ \

lheqdh\hf
j_ b̀f_

Ij_^mklZgh\e_ggu_

aZ^Zgby �k F_gx � g_
bkihevamxlky �

LHEQDH<UC
J?@BF

IJYFH?
<J:S?GB?

H;J:LGH?
<J:S?GB? K;JHK

<k_ iZjZf_ljuihdZaZguijb gZkljhcd_ ih m fheqZgbx

0.24
5

6

7

0.35

0.14

0.25

:gZeh]h\uc \oh^ �

\u[hj j_ b̀fZ

:gZeh]h\uc \oh^
2 \u[hj j_`bfZ

0.26

:gZeh]h\uc
\oh^ �\u[hj

gZagZq_gby

0.05

<u[hj

aZ^Zgby

29

G: F?KL?  /
>BKL:GPBHGGH

26 27 28

FbgbfZevgZy

kdhjhklv

FZdkbfZevgZy
kdhjhklv

0.01

0.02

0.20

0.21

0.22

0.23

IjhimkdZ_fZy

kdhjhklv �

>bZiZahg

ijhimkdZ_fuo

kdhjhkl_c �

IjhimkdZ_fZy
kdhjhklv �

>bZiZahg

ijhimkdZ_fuo

kdhjhkl_c �

IjhimkdZ_fu_
kdhjhklb

IZjZf_lj �

ihdZau\Z_fuc
ijb \dexq_gbb

ijb\h^Z

0.38

25 30

J:AJ?R?GB?

G: A:IMKD

 Jbkmghd 4–2 Eh]bq_kdZy ^bZ]jZffZ F_gx � ^ey aZfdgmlhc kbkl_fu
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Ebg_cgu_

aZdhgu

(jZfiu�

<_ebqbgZ

mkdhj_gby

<_ebqbgZ

aZf_^e_gby

<u[hj

ebg_cgh] h

aZdhgZ

S-h[jZagh_
j_]mebjh\Zgb_

jZaj_r_gh

S-h[jZaguc aZdhg
k h] jZgbq_gb_f

da/dt

<u[hj j_`b �

fZ j_]mebj �

fhf_glZ

KDHJHKLVFHF?GL

MijZ\e_gb_

^\b]Zl_e_f

Ij_^_evguc

lhd

Dhwnn� mkb�

e_gby

ijhihjp �

a\_gZ

KbgojhgbaZpby k

\jZsZxsbfky

^\b] Zl_e_f

Kdhjhklv

^\b] Zl_ey
:dlb\guc lhd

^\b] Zl_ey

0.16

0.39

0.03

0.04

0.15

0.18

0.19

AgZq_gb_

kdhjhklb

i_j_^ jZfihc

AgZq_gb_

kdhjhklb

ihke_ jZfiu

0.11 0.12

S-h[jZaguc aZdhg

0.17

F_gx �

0.06

0.07

Dhwnn� mkb�

e_gby bgl_] j �

a\_gZ

0.08

<u[hj j_`bfZ

hklZgh\db

Qbkeh ihexkh\

Dhwnn� fh sghklb

Ghf�gZijy`_gb_

Ghfbg �kdhjhklv

GhfbgZevguc lhd

Ghfbg �qZklhlZ

QZklhlZ

i_j_dexq_gbc

RBF

0.41

0.42 ~ 0.47

IZjZf_lju

^\b]Zl_ey

0.13

A\_gvy dhglmjZ kdhjhklb

Kbeh\Zy qZklv

9 10 24

>HKLB@?GB?

GME?<HC

KDHJHKLBL?JFBKLHJ

8

Dhwnn�

mkbe_gby

^bnn�a\_gZ

dhglmjZ

kdhjhklb

0.09

0.10
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4.2 Dhgnb]mjZpby
Ijb\h^Z

0.00 Baf_g_gb_ j_`bfZ jZ[hlu,
<u[hj FZdjhkZ,
Dhgnb]mjZpby,
KhojZg_gb_ gZkljh_d

RW Uni R

Ú 0 ~ 2009 Ö 0

AgZq_gb_ Nmgdpby

1000 KhojZgblv gh\u_ agZq_gby iZjZf_ljh\

1233 <hkklZgh\blv agZq_gby iZjZf_ljh\� ih
mfheqZgbx ^ey qZklhlu iblZgby �� =p

�?\jhiZ�

1244 <hkklZgh\blv agZq_gby iZjZf_ljh\� ih
mfheqZgbx ^ey qZklhlu iblZgby �� =p

�KR:�

1253 JZaj_rblv baf_g_gb_ j_`bfZ jZ[hlu

Ijb\h^Z b \hkklZgh\blv agZq_gby ih
mfheqZgbx ^ey qZklhlu iblZgby �� =p

�?\jhiZ�

1254 JZaj_rblv baf_g_gb_ j_`bfZ jZ[hlu
Ijb\h^Z b \hkklZgh\blv agZq_gby ih
mfheqZgbx ^ey qZklhlu iblZgby �� =p

�KR:�

2001 FZdjhk �

H[e_]q_gguc j_`bf

2002 FZdjhk �
Pbnjh\hc ihl_gpbhf_lj

2003 FZdjhk �

Ij_^\Zjbl_evgh mklZgh\e_ggu_ kdhjhklb

2004 FZdjhk �
J_]mebjh\Zgb_ fhf_glZ

2005 FZdjhk �

IB> ± j_]meylhj

GZ`fbl_    ihke_ mklZgh\db lj_[m_fh]h
agZq_gby iZjZf_ljZ 0.00.

4.3 H]jZgbq_gby
kdhjhklb

0.01
(1.07)

OL> FbgbfZevgZy qZklhlZ

CL> FbgbfZevgZy kdhjhklv

(Dh]^Z Ijb\h^ jZ[hlZ_l \ j_`bf_ lheqdZ� [0.01]
g_ hdZau\Z_l \ebygby.)

JZahfdgmlZy kbkl_fZ

FbgbfZevgZy qZklhlZ RW Uni

Ú OL> 0 ~ [0.02] Ö 0 =p

MklZgh\bl_ 0.01 gZ lj_[m_fmx fbgbfZevgmx

\uoh^gmx qZklhlm Ijb\h^Z ^ey h[hbo

gZijZ\e_gbc \jZs_gby� Ijb\h^ jZ[hlZ_l ijb

fbgbfZevghc qZklhl_� dh]^Z aZ^Zxsbc kb]gZe

qZklhlu jZ\_g gmex.

[0.01] y\ey_lky ghfbgZevguf agZq_gb_f�

dhfi_gkZpby kdhev`_gby fh`_l \ua\Zlv

ih\ur_gb_ ^_ckl\bl_evghc qZklhlu.

AZfdgmlZy kbkl_fZ

FbgbfZevgZy kdhjhklv RW Uni

Ú CL> 0 ~ [0.02] Ö 0 h[/fbg

MklZgh\bl_ 0.01 gZ lj_[m_fmx fbgbfZevgmx

kdhjhklv ^\b]Zl_ey ijb h[hbo gZijZ\e_gbyo

\jZs_gby� >\b]Zl_ev \jZsZ_lky k fbgbfZevghc

kdhjhklvx� dh]^Z aZ^Zxsbc kb]gZe ih kdhjhklb
jZ\_g gmex.

0.02
(1.06)

OL> FZdkbfZevgZy qZklhlZ

CL> FZdkbfZevgZy kdhjhklv

(Ijb\h^ bf__l ^hihegbl_evgmx aZsblm hl

ij_\ur_gby kdhjhklb.)

JZahfdgmlZy kbkl_fZ

FZdkbfZevgZy qZklhlZ RW Uni

Ú OL> 0 ~ 1000.0 Ö

Ö

50
(?\jhiZ)
60 (KR:)

=p

MklZgh\bl_ 0.02 gZ lj_[m_fmx fZdkbfZevgmx

\uoh^gmx qZklhlm ^ey h[hbo gZijZ\e_gbc

\jZs_gby� AZ^Zgb_ qZklhlu g_ kfh`_l

aZklZ\blv Ijb\h^ m\_ebqblv \uoh^gmx qZklhlm

\ur_� q_f [0.02].

[0.02] y\ey_lky ghfbgZevguf agZq_gb_f�

dhfi_gkZpby kdhev`_gby fh`_l \ua\Zlv

ih\ur_gb_ ^_ckl\bl_evghc qZklhlu.

AZfdgmlZy kbkl_fZ

FZdkbfZevgZy kdhjhklv RW Uni

Ú

Ú

VT>

SV>

0 ~ 30 000

0 ~ 30 000

Ö

Ö

1500
(?\jhiZ)

1800
(KR:)

3000

h[/fbg

h[/fbg

h[/fbg

MklZgh\bl_ 0.02 gZ lj_[m_fmx fZdkbfZevgmx

kdhjhklv ^\b]Zl_ey ijb h[hbo gZijZ\e_gbyo

\jZs_gby� AZ^Zgb_ kdhjhklb g_ kfh`_l

aZklZ\blv Ijb\h^ jZah]gZlv ^\b]Zl_ev ^h
kdhjhklb \ur_� q_f [0.02].

Ij_^hkl_j_`_gb_

JZ[hlZ ^\b]Zl_ey ijb qZklhlZo

\ur_ 500=p �30 000 h[/fbg m 2-
ihexkguo ^\b]Zl_e_c) fh`_l
hdZaZlvky g_mklhcqb\hc�

Ijhdhgkmevlbjmcl_kv k

ihklZ\sbdhf Ijb\h^Z.
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4.4 Ebg_cgu_ aZdhgu
baf_g_gby kb]gZeZ
aZ^Zgby �jZfiu�
<u[hj lbiZ aZ^Zgby
kdhjhklb
H]jZgbq_gb_ lhdZ

0.03
(2.11)

<_ebqbgZ mkdhj_gby

RW Uni

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 3200.0

0 ~ 3200

0 ~ 32.000

Ö

Ö

Ö

5

2

0.2

k/100 =p

k/1000 h[/fbg

k/1000 h[/fbg

MklZgh\bl_ 0.03 gZ lj_[m_fmx \_ebqbgm

mkdhj_gby� h[jZlb\ \gbfZgb_� qlh [hevrb_

agZq_gby iZjZf_ljZ kha^Zxl f_gvr__

mkdhj_gb_� Mkdhj_gb_ hlghkblky d h[hbf
gZijZ\e_gbyf \jZs_gby�

0.04
(2.21)

<_ebqbgZ aZf_^e_gby

RW Uni

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 3200.0

0 ~ 3200.0

0 ~ 32.000

Ö

Ö

Ö

10

2

0.2

k/100 =p

k/1000 h[/fbg

k/1000 h[/fbg

MklZgh\bl_ 0.04 gZ lj_[m_fmx \_ebqbgm

aZf_^e_gby� h[jZlb\ \gbfZgb_� qlh [hevrb_

agZq_gby iZjZf_ljZ kha^Zxl f_gvr__

aZf_^e_gb_� AZf_^e_gb_ hlghkblky d h[hbf
gZijZ\e_gbyf \jZs_gby.

0.05
(1.14)

<u[hj kihkh[Z mijZ\e_gby

RW Uni

Ú 0 ~ 5 Ö (kfhljb gb`_)

Ih mfheqZgbx agZq_gb_ iZjZf_ljZ 0.05 aZ\bkbl
hl dhgnb]mjZpbb Ijb\h^Z b hl j_`bfZ jZ[hlu

ke_^mxsbf h[jZahf:

?\jhiZ <k_ j_`bfu jZ[hlu 0 <g_rg__

mijZ\e_gb_

KR: J_`bfu aZfdgmlhc

kbkl_fu

0 <g_rg__

mijZ\e_gb_

KR: J_`bf jZahfdgmlhc

kbkl_fu

4 MijZ\e_gb_ k

dghihqghc iZg_eb

GZklhjhcdb ih mfheqZgbx bkihevamxlky lZd`_ b

ijb jZ[hl_ k fZdjhkZfb�

Bkihevamcl_ 0.05 ^ey \u[hjZ lj_[m_fh]h
kihkh[Z aZ^Zgby qZklhlu/kdhjhklb ba
ke_^mxsbo:

MklZgh\dZ Kihkh[
mijZ\e_gby

Nmgdpby

0 <g_rg__ :gZeh]h\uc kb]gZe

qZklhlZ/kdhjhklv�
\u[bjZ_fuc dhglZdlhf

G:  F?KL?/>BKL:GPBHGGH

1 <g_rg__ :gZeh]h\uc kb]gZe
qZklhlZ/kdhjhklv� \u[jZgh
aZ^Zgb_ 1

2 <g_rg__ :gZeh]h\uc kb]gZe

qZklhlZ/kdhjhklv� \u[jZgh
aZ^Zgb_ 2

3 <g_rg__ <u[jZgu ij_^\Zjbl_evgh
mklZgh\e_ggu_ aZ^Zgby

qZklhlu/kdhjhklb �k F_gx �
g_ bkihevam_lky)

4 K dghihqghc

iZg_eb

QZklhlZ/kdhjhklv
j_]mebjm_lky k dghihqghc
iZg_eb

5 GZ aZ`bfZo <u[jZgh ij_pbabhggh_
aZ^Zgb_ �k F_gx � g_

bkihevam_lky)

Kfhljb Kh_^bg_gby p_i_c mijZ\e_gby \ =eZ\_ 3
GZkljhcdZ Ijb\h^Z.

0.06
(4.07)

Ij_^_evguc lhd

RW Uni

Ú

Ú

Ú

OL>

VT>

SV

0 ~ ≥150

0 ~ ≥175

0 ~ ≥175

Ö

Ö

Ö

150

150

175

% IHLGHKBL

]46.0[hlghkbl

FLC
I =

0.06  h]jZgbqb\Z_l fZdkbfZevguc \uoh^ghc lhd
Ijb\h^Z �b� ke_^h\Zl_evgh� fZdkbfZevguc

fhf_gl ^\b]Zl_ey�� qlh[u aZsblblv Ijb\h^ b
^\b]Zl_ev hl i_j_]jmadb.

MklZgh\bl_ 0.06 gZ lj_[m_fuc fZdkbfZevguc
fhf_gl \ ijhp_glZo hl ghfbgZevgh]h fhf_glZ

^\b]Zl_ey ke_^mxsbf h[jZahf:

(%)100]06.0[ ×=
G

F

T

T

=^_

TF Lj_[m_fuc fZdkbfZevguc fhf_gl

TG GhfbgZevguc fhf_gl ^\b]Zl_ey

< dZq_kl\_ Zevl_jgZlb\gh]h \ZjbZglZ

mklZgh\bl_ 0.06 gZ lj_[m_fuc fZdkbfZevguc
Zdlb\guc lhd �kha^Zxsbc fhf_gl� \ ijhp_glZo

hl ghfbgZevgh]h Zdlb\gh]h lhdZ ^\b]Zl_ey lZdbf

h[jZahf:

(%)100]06.0[ ×=
:G

:F

I

I

]^_:

I:F Lj_[m_fuc fZdkbfZevguc Zdlb\guc
lhd
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I:G :dlb\gZy khklZ\eyxsZy

ghfbgZevgh]h lhdZ ^\b]Zl_ey

H[jZsZcl_kv d jZa^_em MklZgh\dZ ij_^_evgh]h
lhdZ� kha^Zxs_]h fhf_gl \ =eZ\_ 3 GZkljhcdZ
Ijb\h^Z.

4.5 Nhjkbjh\dZ
gZijy`_gby
�jZahfdgmlZy
kbkl_fZ�
Dhwnnbpb_glu
mkbe_gby IB>�
j_]meylhjZ \
dhglmj_ kdhjhklb
(aZfdgmlZy kbkl_fZ)

0.07
(5.14)
(3.10)

OL> <u[hj j_`bfZ j_]mebjh\Zgby

gZijy`_gby

CL> Dhwnnbpb_gl mkbe_gby

ijhihjpbhgZevgh]h a\_gZ \ dhglmj_

kdhjhklb

JZahfdgmlZy kbkl_fZ

<u[hj aZdhgZ

j_]mebjh\Zgby gZijy`_gby

RW Uni P

Ú OL> (kfhljb gb`_) Ö Ur_I

MklZgh\dZ Nmgdpby

J_`bfu \_dlhjgh]h mijZ\e_gby

Ur_S 0 :dlb\gh_ khijhlb\e_gb_ h[fhldb klZlhjZ
^\b]Zl_ey baf_jy_lky dZ`^uc jZa ijb

imkd_ Ijb\h^Z.

Ur_I 1 :dlb\gh_ khijhlb\e_gb_ h[fhldb klZlhjZ
^\b]Zl_ey baf_jy_lky ijb \dexq_gbb

we_dljhiblZgby� _keb dexq <G?RG??
HLDEXQ?GB? aZfdgml b g_l gbdZdh]h
^jm]h]h mkeh\by hldexq_gby.

Ur 2 :dlb\gh_ khijhlb\e_gb_ h[fhldb klZlhjZ

^\b]Zl_ey g_ baf_jy_lky (bkihevamcl_
wlhl j_`bf lhevdh ihke_ jZ[hlu k

mklZgh\dhc Ur_S beb Ur_I,  ijb dhlhjuo
Zdlb\gh_ khijhlb\e_gb_ klZlhjZ [ueh

baf_j_gh).

J_`bf nbdkbjh\Zgghc nhjkbjh\db

Fd 3 Nbdkbjh\ZggZy nhjkbjh\dZ ih
gZijy`_gbx� dhlhjZy mklZgZ\eb\Z_lky
\jmqgmx iZjZf_ljhf 0.08 Nhjkbjh\dZ
gZijy`_gby.

Bkihevamcl_ 0.07 (5.14) ^ey \u[hjZ
nbdkbjh\Zgghc nhjkbjh\db gZijy`_gby beb

^ey \_dlhjgh]h mijZ\e_gby wlhc nhjkbjh\dhc�
AgZq_gb_ nhjkbjh\db ^he`gh [ulv \\_^_gh \

0.08 Nhjkbjh\dZ gZijy`_gby.  Kfhljb gb`_
Jbkmghd 4–3.  Nbdkbjh\Zggmx nhjkbjh\dm

ke_^m_l bkihevah\Zlv� dh]^Z agZq_gb_

iZjZf_ljZ 0.39 KbgojhgbaZpby k \jZsZxsbfky
^\b]Zl_e_f mklZgh\e_gh gZ 1.

 

GZijy`_gb_

gZ ^\b]Zl_e_

[0.08]
Nhjkbjh\dZ

gZijy`_gby

FQZklhlZ

 Jbkmghd 4–3 <ebygb_ nbdkbjh\Zgghc nhjkbjh\db

gZijy`_gby gZ oZjZdl_jbklbdm

gZijy`_gb_�qZklhlZ

Ijb \_dlhjghf mijZ\e_gbb nhjjkbjh\dZ ih
gZijy`_gbx Z\lhfZlbq_kdb j_]mebjm_lky \

aZ\bkbfhklb hl gZ]jmadb ^\b]Zl_ey.

<_dlhjgh_ mijZ\e_gb_ lj_[m_l ojZg_gby \

iZjZf_ljZo Ijb\h^Z \_ebqbgu Zdlb\gh]h
khijhlb\e_gby h[fhldb klZlhjZ� Ljb j_`bfZ

\_dlhjgh]h mijZ\e_gby iha\heyxl baf_jblv wlh

khijhlb\e_gb_ \ jZaebqguo mkeh\byo.

AZfdgmlZy kbkl_fZ

Dhwnnbpb_gl mkbe_gby

ijhihjpbhgZevgh]h a\_gZ \

dhglmj_ kdhjhklb

RW Uni

Ú CL> 0 ~ 32000 Ö 200

0.07 (3.10) ^_ckl\m_l \ p_ib ijyfhc i_j_^Zqb
kb]gZeZ dhglmjZ j_]mebjh\Zgby kdhjhklb \

Ijb\h^_. Kfhljb jZa^_e GZkljhcdZ ^bgZfbq_kdbo

oZjZdl_jbklbd \ =eZ\_ 3 GZkljhcdZ Ijb\h^Z.

>ey ZgZebaZ dhglmjZ j_]mebjh\Zgby kdhjhklb

kfhljb iZjZf_lj 3.10 \ Bgkljmdpbb Ihevah\Zl_ey

<ukhdh]h Mjh\gy.

0.08
(5.15)
(3.11)

OL> Nhjkbjh\dZ gZijy`_gby

CL> Dhwnnbpb_gl mkbe_gby

bgl_]jbjmxs_]h a\_gZ \ dhglmj_

kdhjhklb

JZahfdgmlZy kbkl_fZ

Nhjkbjh\dZ gZijy`_gby RW Uni

Ú OL> 0 ~ 25.0 Ö 3.0 % x [0.44]

Dh]^Z 0.07 <u[hj kihkh[Z j_]mebjh\Zgby
gZijy`_gby mklZgh\e_g gZ Fd, mklZgh\bl_
lj_[m_fh_ agZq_gb_ 0.08 (5.15) lZd� qlh[u
^\b]Zl_ev gZ^_`gh jZ[hlZe gZ gbadhc kdhjhklb�
Kfhljb Jbkmghd 4–3.

Baebrg_ [hevrb_ \_ebqbgu iZjZf_ljZ 0.08
fh]ml \ua\Zlv i_j_]j_\ ^\b]Zl_ey.
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AZfdgmlZy kbkl_fZ

Dhwnnbpb_gl mkbe_gby

bgl_]jbjmxs_]h a\_gZ \

dhglmj_ kdhjhklb

RW Uni

Ú CL> 0 ~ 32000 Ö 100

0.08 (3.11) ^_ckl\m_l \ p_ib ijyfhc i_j_^Zqb
kb]gZeZ dhglmjZ j_]mebjh\Zgby kdhjhklb \

Ijb\h^_� Kfhljb jZa^_e GZkljhcdZ ^bgZfbq_kdbo
oZjZdl_jbklbd \ =eZ\_ 3 GZkljhcdZ Ijb\h^Z.

>ey ZgZebaZ j_]mebjh\Zgby kdhjhklb kfhljb

iZjZf_lj 3.10 \ Bgkljmdpbb Ihevah\Zl_ey
<ukhdh]h Mjh\gy.

0.09
(5.13)
(3.12)

OL> >bgZfbq_kdbc \u[hj

oZjZdl_jbklbdb V/f
�gZijy`_gb_�qZklhlZ�

CL> Dhwnnbpb_gl mkbe_gby

^bnn_j_gpbjmxs_]h a\_gZ \

dhglmj_ kdhjhklb

JZahfdgmlZy kbkl_fZ

>bgZfbq_kdbc \u[hj V/f RW Bit

Ú OL> 0 ~ 1 Ö 0

MklZgh\bl_ 0.09 (5.13) gZ 0� _keb ^ey mijZ\e_gby

^\b]Zl_e_f g_h[oh^bfh bkihevah\Zlv

nbdkbjh\Zggmx oZjZdl_jbklbdm

gZijy`_gb_�qZklhlZ� OZjZdl_jbklbdZ [m^_l

hij_^_eylvky Ijb\h^hf ih ghfbgZevguf

agZq_gbyf gZijy`_gby b qZklhlu ^\b]Zl_ey�

MklZgh\bl_ 0.09 gZ 1, dh]^Z m e_]dh gZ]jm`_ggh]h
^\b]Zl_ey `_eZl_evgh bf_lv ihgb`_ggmx

fhsghklv ihl_jv� < wlhf kemqZ_ oZjZdl_jbklbdZ

V/f [m^_l baf_gy_lky� \ j_amevlZl_ q_]h ijb
kgb`_gbb lhdZ ^\b]Zl_ey ijhihjpbhgZevgh

mf_gvrZ_lky gZijy`_gb_ gZ klZlhj_ ^\b]Zl_ey�

Jbkmghd 4–4 ihdZau\Z_l baf_g_gb_ gZdehgZ
aZ\bkbfhklb V/f, dh]^Z mf_gvrZ_lky lhd
^\b]Zl_ey.

 

GZijy`_gb_

^\b]Zl_ey

QZklhlZ

GZijy`_gb_

iblZxs_c

k_lb

i_j_f_ggh]h

lhdZ

I  ̂ \b]

 Jbkmghd 4–4 Nbdkbjh\Zggu_ b baf_gy_fu_

oZjZdl_jbklbdb V/f

AZfdgmlZy kbkl_fZ

Dhwnnbpb_gl mkbe_gby

^bnn_j_gpbZevgh]h a\_gZ \

dhglmj_ kdhjhklb

RW Uni

Ú CL> 0 ~ 32000 Ö 0

0.09 (3.12) \dexqzg \ p_iv h[jZlghc k\yab
dhglmjZ j_]mebjh\Zgby kdhjhklb \ Ijb\h^_.  
Kfhljb jZa^_e GZkljhcdZ ^bgZfbq_kdbo

oZjZdl_jbklbd \ =eZ\_ 3 GZkljhcdZ Ijb\h^Z.

>ey ZgZebaZ j_]mebjh\Zgby kdhjhklb kfhljb

iZjZf_lj 3.10 \ Bgkljmdpbb Ihevah\Zl_ey
<ukhdh]h Mjh\gy.

4.6 L_dmsbc dhgljhev

0.10
(5.04)
(3.02)

OL> Hp_gdZ kdhjhklb ^\b]Zl_ey

CL> Kdhjhklv ^\b]Zl_ey

JZahfdgmlZy kbkl_fZ

Hp_gdZ kdhjhklb ^\b]Zl_ey RO Bi

Ú OL> ±6000 Ö RPM

0.10 (5.04) ihdZau\Z_l agZq_gb_ kdhjhklb
^\b]Zl_ey� dhlhjh_ hp_gb\Z_lky ih ke_^mxsbf

iZjZf_ljZf:

0.12 AgZq_gb_ qZklhlu ihke_ jZfiu

0.42 Qbkeh ihexkh\ ^\b]Zl_ey

AgZq_gb_ 0.10 ih^Z_lky gZ ZgZeh]h\uc \uoh^
de_ffu � ^ey bg^bdZpbb kdhjhklb.

AZfdgmlZy kbkl_fZ

Kdhjhklv ^\b]Zl_ey RO Bi

Ú CL> ±30 000 Ö h[/fbg

0.10 (3.02) ihdZau\Z_l agZq_gb_ kdhjhklb
^\b]Zl_ey� ihemq_ggh_ ba p_ib h[jZlghc k\yab

ih kdhjhklb�

AgZq_gb_ 0.10 ih^Z_lky gZ ZgZeh]h\uc \uoh^
de_ffu � ^ey bg^bdZpbb kdhjhklb.

0.11
(1.03)

AZ^Zgb_ i_j_^ jZfihc

0.12
(2.01)

AZ^Zgb_ ihke_ jZfiu

RO Bi

Ú

Ú

OL>

CL>

±1000.0

±30 000

Ö

Ö

=P

h[/fbg

Dh]^Z \uoh^gZy qZklhlZ�kdhjhklv Ijb\h^Z

g_baf_ggZ, [0.12] = [0.11].  Ijb mkdhj_gbb b
aZf_^e_gbb wlb ^\Z agZq_gby fh]ml
jZaebqZlvky�
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OL>  [0.12] hlebqZ_lky hl [0.11] lZd`_ ijb ex[hf
ba ke_^mxsbo mkeh\bc:

• Ijb kjZ[Zlu\Zgbb lhdhh]jZgbq_gby

• < oh^_ lhjfh`_gby ih klZg^Zjlghfm
ebg_cghfm aZdhgm (iZjZf_lj 0.15 <u[hj
lbiZ jZfiu mklZgh\e_g gZ Stnd.Hd  beb
Std.Ct ).

0.13
(4.02)

:dlb\guc lhd ^\b]Zl_ey

RO Bi

Ú ±LIG Ö A

Dh]^Z ^\b]Zl_ev \jZsZ_lky kh kdhjhklvx gb`_

ghfbgZevghc� fhf_gl� jZa\b\Z_fuc
^\b]Zl_e_f� ijhihjpbhgZe_g [0.13].

4.7 AZ^Zgb_ \
lheqdh\hf j_`bf_
<u[hj lbiZ
ebg_cgh]h aZdhgZ
�jZfiu�

<u[hj j_`bfh\
hklZgh\db b
j_]mebjh\Zgby
fhf_glZ

0.14
(1.05)

AZ^Zgb_ \ lheqdh\hf j_`bf_

RW Uni

Ú

Ú

OL>

CL>

0 ~ 400.0

0 ~ 4000

Ö

Ö

1.5

50

=p

h[/fbg

<\_^bl_ lj_[m_fh_ ^ey j_`bfZ lheqdZ agZq_gb_
qZklhlu/kdhjhklb.  < ^Zgghf j_`bf_ ^_ckl\mxl

h]jZgbq_gby qZklhlu�kdhjhklb�

IZjZf_lj� mklZgZ\eb\Zxsbc ij_^_e ih

qZklhl_

H]jZgbq_gb_

^_ckl\m_l

0.01 FbgbfZevgZy qZklhlZ�kdhjhklv >Z

0.02 FZdkbfZevgZy qZklhlZ�kdhjhklv >Z

0.15
(2.04)

<u[hj lbiZ ebg_cgh]h aZdhgZ

�jZfiu�

RW Txt

Ú (Kfhljb gb`_) Ö Stnd.Ct

<u[bjZcl_ lj_[m_fuc lbi ebg_cgh]h aZdhgZ

�jZfiu� ba mdZaZgguo gb`_:

Stnd.Hd (0) KlZg^Zjlguc ebg_cguc aZdhg k _]h
m^_j`Zgb_f

FASt (1) ;ukljuc ebg_cguc aZdhg

Stnd.Ct (2) KlZg^Zjlguc ebg_cguc k

ijhihjpbhgZevguf j_]mebjh\Zgb_f
�h[jZsZcl_kv d Bgkljmdpbb

Ihevah\Zl_ey <ukhdh]h Mjh\gy)

Kfhljb jZa^_e <u[hj j_`bfZ lhjfh`_gby \
=eZ\_ � GZkljhcdZ Ijb\h^Z.

0.16
(6.01)

<u[hj j_`bfZ hklZgh\db

RW Txt

Ú

Ú

Ú

OL>

VT>

SV>

(Kfhljb gb`_)

Ö

Ö

Ö

rP

rP

no.rP

<u[_jbl_ lj_[m_fuc kihkh[ hklZgh\db ba

ke_^mxsbo:

JZahfdgmlZy kbkl_fZ

COASt 0 HklZgh\dZ ^\b]Zl_ey \u[_]hf

rP 1 Ebg_cgh_ aZf_^e_gb_ ^h hklZgh\db

rP-dcI 2 Ebg_cgh_ aZf_^e_gb_ k ihke_^mxs_c

ih^Zq_c ihklhyggh]h lhdZ gZ � k_dmg^m

dcI 3 Lhjfh`_gb_ kgb`_gb_f qZklhlu k
ihke_^mxs_c ih^Zq_c ihklhyggh]h lhdZ gZ

� k_dmg^m

td-dcI 4 Lhjfh`_gb_ ih^Zq_c ihklhyggh]h lhdZ \
l_q_gb_ gZkljZb\Z_fh]h \j_f_gb �kfhljb
Bgkljmdpbx Ihevah\Zl_ey <ukhdh]h Mjh\gy).

AZfdgmlZy kbkl_fZ

COASt 0 HklZgh\dZ ^\b]Zl_ey \u[_]hf

rP 1 Ebg_cgh_ aZf_^e_gb_ ^h hklZgh\db

no.rP 2 HklZgh\dZ ijb h]jZgbq_gbb lhdZ �g_ ih
ebg_cghfm aZdhgm�

rP-POS 3 Ebg_cgh_ aZf_^e_gb_, ihabpbhgbjh\Zgb_
b hklZgh\dZ

Kfhljb jZa^_e <u[hj j_`bfZ hklZgh\db \ =eZ\_
3 GZkljhcdZ Ijb\h^Z�

0.17
(4.11)

<u[hj j_`bfZ j_]mebjh\Zgby

fhf_glZ

RW Uni

Ú

Ú

OL>

CL>

0 ~ 1

0 ~ 4

Ö

Ö

0

0

MklZgh\bl_ 0.17 ke_^mxsbf h[jZahf:

AgZq_gb_ JZahfdgmlZy
kbkl_fZ

AZfdgmlZy kbkl_fZ

0 J_]mebjh\Zgb_

qZklhlu

J_]mebjh\Zgb_

kdhjhklb

1 J_]mebjh\Zgby
fhf_glZ

J_]mebjh\Zgb_
fhf_glZ

2 MijZ\e_gb_

fhf_glhf [_a k\yab
kh kdhjhklvx

3 J_`bf

gZfhldb/kfZlu\Zgby

4 MijZ\e_gb_

kdhjhklvx \ ijyfhc
k\yab k fhf_glhf
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H jZ[hl_ ijb [0.17]=1, J_`bf j_]mebjh\Zgby

fhf_glZ kfhljb Ijbeh`_gb_ B FZdjhku.

Ih ih\h^m agZq_gbc � b � h[jZsZcl_kv d

iZjZf_ljm 4.11, hibkZgghfm \ Bgkljmdpbb
Ihevah\Zl_ey <ukhdh]h Mjh\gy.

4.8 S-h[jZaguc aZdhg
(S�jZfiZ�

0.18
(2.06)

S-jZfiZ jZaj_r_gZ

RW Bit

Ú 0 ~ 1 Ö 0

MklZgh\bl_ wlhl iZjZf_lj gZ 1 qlh[u jZaj_rblv

bkihevah\Zgb_ S-h[jZagh]h aZdhgZ baf_g_gby
kb]gZeZ aZ^Zgby. Kfhljb iZjZf_lj 0.19 S-
h[jZagh_ baf_g_gb_ k h]jZgbq_gb_f da/dt.

0.19
(2.07)

S-h[jZagh_ baf_g_gb_ k h]jZgbq_gb_f
da/dt

RW Uni

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 3000.0

0 ~ 30.000

0 ~ 30.000

Ö

Ö

Ö

3.1

1.5

0.03

k
2/100 =p

k
2/1000 h[/fbg

k
2/1000 h[/fbg

Bkihevamcl_ S-h[jZaguc aZdhg ^ey h]jZgbq_gby
\_ebqbgu baf_g_gby mkdhj_gby b aZf_^e_gby \

gZqZe_ b \ dhgp_ ebg_cgh]h baf_g_gby

�gZijbf_j� ijb jZa]hg_ b lhjfh`_gbb

^\b]Zl_ey�.

?keb lj_[mxlky jZaebqgu_ \_ebqbgu baf_g_gby

mkdhj_gby b aZf_^e_gby� mklZgh\bl_ 0.19 S-
h[jZagh_ baf_g_gb_ k h]jZgbq_gb_f da/dt gZ gm`gmx
\_ebqbgm.  (<_ebqbgZ mkdhj_gby b aZf_^e_gby
mklZgZ\eb\Z_lky \ iZjZf_ljZo 0.03 b 0.04
khhl\_lkl\_ggh).

AZ^Zgb_

kdhjhklb

Mkdhj_gb_

>_ckl\bl_ev �

gh_
baf_g_gb_

kdhjhklb <j_fy

Jbkmghd 4–5 S-h[jZaguc aZdhg baf_g_gby
u \h \j_f_gb

H[jZlbl_kv d Jbkmgdm 4–5.  >ebl_evghklv
djb\hebg_cguo mqZkldh\ t fh`_l [ulv
jZkkqblZgZ ke_^mxsbf h[jZahf:

>ey mkdhj_gby:

t = [ . ]
[ . ]
0 19
0 03

>ey aZf_^e_gby:

t = [ . ]
[ . ]
0 19
0 04

Ih kjZ\g_gbx k ghjfZevguf ebg_cguf aZdhghf

S-h[jZaguc m\_ebqb\Z_l h[s__ \j_fy
i_j_oh^gh]h ijhp_kkZ gZ \_ebqbgm t, ihkdhevdm
\ gZqZe_ b \ dhgp_ ebg_cgh]h ]jZnbdZ
^h[Z\ey_lky ih

t/2.

Kfhljb jZa^_e Bkihevah\Zgb_ 6�h[jZagh]h aZdhgZ

^ey kfy]q_gby gZqZeZ b hdhgqZgby ebg_cguo jZfi \
=eZ\_ 3 GZkljhcdZ Ijb\h^Z.

4.9 IjhimkdZ_fu_
qZklhlu�kdhjhklb

0.20
(1.29)

IjhimkdZ_fZy qZklhlZ�kdhjhklv 1

0.22
(1.31)

IjhimkdZ_fZy qZklhlZ�kdhjhklv 2

RW Uni

Ú

Ú

OL>

CL>

0 ~ 1000.0

0 ~ 30 000

Ö

Ö

0

0

=p

h[/fbg

Kfhljb 0.21 b 0.23 >bZiZahgu ijhimkd_Zfuo

qZklhl.

0.21
(1.30)

>bZiZahg ijhimkdZ_fuo

qZklhl�kdhjhkl_c �

0.23
(1.32)

>bZiZahg ijhimkdZ_fuo

qZklhl�kdhjhkl_c �

RW Uni

Ú

Ú

OL>

CL>

0 ~ 5.0

0 ~ 50

Ö

Ö

0.5

5

=p

h[/fbg

Bkihevamcl_ ijhimkd qZklhlu/kdhjhklb b
^bZiZahgu ijhimkdZ_fuo qZklhl�kdhjhkl_c ^ey

lh]h� qlh[u ij_^hl\jZlblv jZ[hlm ^\b]Zl_ey ijb

kdhjhklyo� dhlhju_ \uau\Zxl f_oZgbq_kdbc

j_ahgZgk \ fZrbg_� Ijb jZa]hg_ b aZf_^e_gbb

Ijb\h^ ijhimkdZ_l �b]ghjbjm_l� mdZaZggu_
^bZiZahgu qZklhl� g_ klZ[bebabjmykv gZ gbo�

Fh`gh ijh]jZffbjh\Zlv ^h ^\mo agZq_gbc
ijhimkdZ_fuo qZklhl/kdhjhkl_c.

<\_^bl_ kj_^g__ agZq_gb_ qZklhlu/kdhjhklb ba
^bZiZahgZ ijhimkdZ_fuo qZklhl�kdhjhkl_c \ 0.20
(beb 0.22) IjhimkdZ_fZy qZklhlZ�kdhjhklv, aZl_f
\\_^bl_ rbjbgm iheh\bgu ^bZiZahgZ

ijhimkdZ_fuo qZklhl�kdhjhkl_c \ 0.21 (beb 0.23)
>bZiZahg kdZqdZ.
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Dh]^Z \_ebqbgZ ijhimkdZ_fhc qZklhlu�kdhjhklb

jZ\gZ gmex� aZijh]jZffbjh\Zlv ^bZiZahg

ijhimkdZ_fuo qZklhl�kdhjhkl_c g_\hafh`gh.

 

 Jbkmghd 4–6 Ijbgpbi ^_ckl\by ijhimkdZ_fhc

qZklhlu�kdhjhklb � b ^bZiZahgZ ijhimkdZ_fuo

qZklhl�kdhjhkl_c �

Dh]^Z \hajZklZxsbc \oh^ghc kb]gZe

qZklhlu/kdhjhklb ^hklb]Z_l ^bZiZahgZ kdZqdZ�
\uoh^gZy qZklhlZ hklZ_lky gZ gbar_f djZ_
^bZiZahgZ ^h l_o ihj� ihdZ \oh^ghc kb]gZe g_

^hklb]g_l \_jog_c ]jZgbpu ^bZiZahgZ� Ihke_

wlh]h \uoh^gZy qZklhlZ kh\_jrZ_l kdZqhd ^h

agZq_gby� khhl\_lkl\mxs_]h \oh^ghfm kb]gZem.

Dh]^Z \oh^ghc kb]gZe qZklhlZ/kdhjhklv
ihgb`Z_lky ^h kdZqdZ� \uoh^gZy qZklhlZ kjZam

^_eZ_l kdZqhd ^h gb`g_]h agZq_gby ^bZiZahgZ
kdZqdZ.

Ijbf_j

IjhimkdZ_fZy kdhjhklv � = 250 H;/FBG

<\_^bl_ 250 \ iZjZf_lj 0.20

Lj_[m_fZy rbjbgZ ^bZiZahgZ ijhimkdZ = 60
h[/fbg

<\_^bl_ 30 ������ \ iZjZf_lj 0.21

(RbjbgZ ^bZiZahgZ ijhimkdZ = 2 × AgZq_gb_
iZjZf_ljZ ^bZiZahgZ ijhimkdZ_fuo qZklhl�)

4.10 J_`bfu jZ[hlu
ZgZeh]h\uo
\oh^h\

0.24
(7.06)

<u[hj j_`bfZ ZgZeh]h\h]h \oh^Z 1

0.25
(7.11)

<u[hj j_`bfZ ZgZeh]h\h]h \oh^Z 2

RW Txt P

Ú 0 ~ 8 Ö VOLt

MklZgh\bl_ lj_[m_fuc j_`bf ke_^mxsbf

h[jZahf:

MklZgh\dZ <oh^ghc kb]gZe Dh]^Z kb]gZe ih lhdm

≤3 fA...

VOLt 0 Hl 0 < ^h 10 <

0–20 1 Hl 0 ^h 20 fA Kb]gZe

\hkijbgbfZ_lky dZd
gmev

20–0 2 Hl 20 fA ^h 0 Kb]gZe

\hkijbgbfZ_lky dZd
gmev

4–20.tr 3 Hl 4 fA ^h 20 fA Ijb\h^ hldexqZ_lky

20–4.tr 4 Hl 20 fA ^h 4 fA Ijb\h^ hldexqZ_lky

4–20.Lo 5 Hl 4 fA ^h 20 fA Ijb\h^ ijh^he`Z_l

jZ[hlZlv gZ
fbgbfZevghc beb

gbadhc kdhjhklb

20–4.Lo 6 Hl 20 fA ^h 4 fA Ijb\h^ ijh^he`Z_l
jZ[hlZlv gZ
fbgbfZevghc beb

gbadhc kdhjhklb

4–20.Pr 7 Hl 4 fA ^h 20 fA Ijb\h^ ijh^he`Z_l
jZ[hlZlv gZ ij_`g_c

kdhjhklb

20–4.Pr 8 Hl 20 fA ^h 4 fA Ijb\h^ ijh^he`Z_l
jZ[hlZlv gZ ij_`g_c

kdhjhklb

0.26
(7.14)

IZjZf_lj gZagZq_gby ZgZeh]h\h]h

\oh^Z 2

RW Uni R P

Ú 0.00 ~ 20.50 Ö 1.37 F_gx.
iZjZf_lj

Kb]gZe� ih^Zgguc gZ \oh^gmx de_ffm�

ij_h[jZam_lky \ agZq_gb_ iZjZf_ljZ� Nmgdpby

wlh]h iZjZf_ljZ hij_^_ey_l nmgdpbx de_ffu.

Ih mfheqZgbx kb]gZe k de_ffu 7 (:gZeh]h\uc
\oh^ 2) i_j_^Zzlky \ iZjZf_lj 1.37 :gZeh]h\h_
aZ^Zgb_ � (lh _klv iZjZf_lj ���� gZagZq_g ^ey

jZ[hlu k ^Zgguf \oh^hf).  >ey baf_g_gby
nmgdpbb de_ffu � bkihevamcl_ iZjZf_lj 0.26.
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4.11 JZagh_

0.27
(8.27)
(6.04)

?\jhiZ>  <u[hj iheh`bl_evghc
eh]bdb mijZ\e_gby

KR:>  <u[hj lbiZ kb]gZeh\

mijZ\e_gby

?\jhi_ckdZy dhgnb]mjZpby

<u[hj iheh`bl_evghc

eh]bdb

RW Bit R P

Ú 0 ~ 1 Ö 0

Bkihevamcl_ 0.27 (8.27) ^ey \u[hjZ iheyjghklb
eh]bdb pbnjh\uo \oh^guo kb]gZeh\�

0 HljbpZl_evgZy eh]bdZ

1 Iheh`bl_evgZy eh]bdZ

Ih^jh[ghklb kfhljbl_ \ jZa^_e_ Kh_^bg_gby
p_i_c mijZ\e_gby \ =eZ\_ 3 GZkljhcdZ Ijb\h^Z.

Dhgnb]mjZpby KR:

<u[hj lbiZ kb]gZeh\

mijZ\e_gby

RW Uni P

Ú 0 ~ 4 Ö 4

Bkihevamcl_ 0.27 (6.04) ^ey baf_g_gby nmgdpbc
pbnjh\uo \oh^h\� wlb nmgdpbb hij_^_eyxl
j_`bf pbnjh\h]h mijZ\e_gby.

GZkljhcdZ ih mfheqZgbx (4) hij_^_ey_l
nmgdpbb ^Zggh]h iZjZf_ljZ ih mfheqZgbx�

ihdZaZggu_ gZ ko_fZo kh_^bg_gby p_i_c
mijZ\e_gby \ =eZ\_ 3 GZkljhcdZ Ijb\h^Z.

MklZgh\bl_ 0.27 gZ 0 ^ey pbnjh\h]h mijZ\e_gby
k ihfhsvx dghihd [_a nbdkZpbb. Kfhljb jZa^_e
Kh_^bg_gby ^ey mijZ\e_gby ��ijh\h^gufb dghidZfb

[_a nbdkZpbb \ =eZ\_ 3 GZkljhcdZ Ijb\h^Z.

<Z`gh� qlh[u \u \b^_eb 0.29 KR:! GZagZq_gb_

iZjZf_ljZ de_ffu �� ^ey mklZgh\db \oh^gh]h

kb]gZeZ J:;HL: J:AJ?R?G: / KLHI.

>ey \uykg_gby ^jm]bo agZq_gbc iZjZf_ljZ 0.27
h[jZsZcl_kv d iZjZf_ljm 6.04 \ Bgkljmdpbb
Ihevah\Zl_ey <ukhdh]h Mjh\gy.

0.28
(4.13)

?\jhiZ>  Dhwnnbpb_gl mkbe_gby
ijhihjpbhgZevgh]h a\_gZ \ dhglmj_

lhdZ

RW Uni

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 30 000

0 ~ 30 000

0 ~ 30 000

Ö

Ö

Ö

20

150

130

0.29
(4.14)

?\jhiZ>  Dhwnnbpb_gl mkbe_gby
bgl_]jbjmxs_]h a\_gZ \ dhglmj_

lhdZ

RW Uni

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 30 000

0 ~ 30 000

0 ~ 30 000

Ö

Ö

Ö

40

2000

1200

?\jhi_ckdZy dhgnb]mjZpby

AgZq_gby 0.28 b 0.29 \ebyxl gZ ^bgZfbq_kdb_
oZjZdl_jbklbdb Ijb\h^Z ijb ke_^mxsbo
mkeh\byo:

• H]jZgbq_gb_ ih lhdm ijb j_]mebjh\Zgbb
qZklhlu/kdhjhklb

• J_]mebjh\Zgb_ fhf_glZ

• Lhjfh`_gb_� dh]^Z iZjZf_lj 0.15 <u[hj lbiZ
ebg_cgh]h aZdhgZ mklZgh\e_g gZ Stnd.Ct
(gZkljhcdZ ih mfheqZgbx)

• KbgojhgbaZpby Ijb\h^Z k \jZsZxsbfky
^\b]Zl_e_f (0.39 mklZgh\e_g gZ 1)

• Ihl_jy iblZgby i_j_f_ggh]h lhdZ� dh]^Z 6.03
<u[hj j_`bfZ ihl_jb iblZgby i_j_f_ggh]h

lhdZ mklZgh\e_g gZ ridE.th .

AZ bgnhjfZpb_c h gZkljhcd_ wlbo iZjZf_ljh\

h[jZsZcl_kv d iZjZf_ljZf 4.13 b 4.14 \
Bgkljmdpbb Ihevah\Zl_ey <ukhdh]h Mjh\gy.

0.28
(1.01)

KR:>  Lj_[m_fZy qZklhlZ/kdhjhklv

RO Bi

Ú

Ú

OL>

CL>

±1000

±30 000

Ö

Ö

=P

h[/fbg

Dhgnb]mjZpby KR:

IZjZf_lj 0.28 hlebqZ_lky hl 0.11 AgZq_gb_ i_j_^
jZfihc l_f� qlh mdZau\Z_l \_ebqbgm lj_[m_fh]h
aZ^Zgby ^h gZeh`_gby h]jZgbq_gbc gZ

qZklhlm�kdhjhklv b \u[hjZ ^bZiZahgh\

ijhimkdZ_fuo qZklhl.
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0.29
(8.23)

KR:>  IZjZf_lj gZagZq_gby
de_ffu 29

RW Uni R P

Ú 0.00 ~ 20.50 Ö 1.41 F_gx.
iZjZf_lj

Dhgnb]mjZpby KR:

Bkihevamcl_ iZjZf_lj 0.29 ^ey baf_g_gby
nmgdpbb pbnjh\h]h \oh^Z gZ de_ff_ 29.

Ijb gZkljhcd_ ih mfheqZgbx (1.41) wlZ de_ffZ
bkihevam_lky ^ey i_j_dexq_gby j_`bfh\
G: F?KL?�>BKL:GPBHGGH.

Dh]^Z iZjZf_lj 0.27 <u[hj lbiZ kb]gZeh\
mijZ\e_gby mklZgh\e_g gZ 0, gm`gh mklZgh\blv
0.29 gZ 6.34 (wlh \Z`gh�).  Ihke_ wlh]h de_ffZ ��
bkihevam_lky dZd \oh^ ^ey kb]gZeZ hklZgh\db

(J:;HL: J:AJ?R?G: / KLHI).

0.30
(6.13)

DGHID: IJYFH/H;J:LGH gZ \kljh_gghc
dghihqghc iZg_eb fh`_l jZ[hlZlv

RW Bit

Ú 0 ~ 1 Ö 0

Ih mfheqZgbx Ijb\h^ ihklZ\ey_lky k

aZ[ehdbjh\Zgghc dghidhc � >EY
BKIHEVAH<:GBY WLHC DGHIDB MKL:GH<BL? 0.30 G:
1.

0.31
(11.37)

Ghf_j fZdjhkZ

RO Uni

Ú 0 ~ 9 Ö

IZjZf_lj 0.31 ihdZau\Z_l ghf_j fZdjhkZ�
bkihevamxs_]hky \ ^Zgguc fhf_gl.

0.32
(11.24)

J_`bf ihke_^h\Zl_evgh]h ihjlZ

RW Txt R P

Ú ANSI 2
ANSI 4
OUtPUt
INPUt

Ö ANSI 4

(ANSI ± :f_jbdZgkdbc GZpbhgZevguc Bgklblml
KlZg^Zjlh\�� Bkihevamcl_ iZjZf_lj 0.32 ^ey
\u[hjZ lj_[m_fh]h j_`bfZ jZ[hlu

ihke_^h\Zl_evgh]h ihjlZ ke_^mxsbf h[jZahf:

ANSI 2 ijhlhdhe $16,, ^\moijh\h^guc

ANSI 4 ijhlhdhe $16,, q_luj_oijh\h^guc

>ey i_j_kuedb agZq_gby dZdh]h�eb[h iZjZf_ljZ ba
h^gh]h Ijb\h^Z \ ^jm]hc bkihevamcl_ ke_^mxsb_

j_`bfu�

OUtPUt I_j_^ZqZ agZq_gby iZjZf_ljZ�
hij_^_ey_fh]h iZjZf_ljhf 11.27 Bkoh^gh_
agZq_gb_ ^ey ihke_^h\Zl_evgh]h h[f_gZ�iZjZf_lj

gZagZq_gby (CT ijhlhdhe)

INPUt Ihf_klbl_ ihemq_ggh_ agZq_gb_ \ iZjZf_lj�
hij_^_ezgguc \ 11.27 Bkoh^gh_ agZq_gb_ ^ey
ihke_^h\Zl_evgh]h h[f_gZ�iZjZf_lj gZagZq_gby

(CT ijhlhdhe)

0.33
(11.32)

GhfbgZevguc lhd Ijb\h^Z (LIG)

RO Uni P

Ú 2.10 ~ 1920 Ö A

0.34
(11.30)

Dh^ ^hklmiZ ihevah\Zl_ey

RW Uni S P

Ú 0 ~ 255 Ö 149

Bkihevamcl_ 0.34 ^ey mklZgh\db dh^Z ^hklmiZ
ihevah\Zl_ey� <g_ aZ\bkbfhklb hl ghf_jZ dh^Z�

\\_^_ggh]h \ 0.34, hg \k_]^Z mdZau\Z_l agZq_gb_
149� mklZgh\e_ggh_ ih mfheqZgbx.  Dh]^Z 0.34 \
kZfhf ^_e_ mklZgh\e_g gZ 149, aZsblu
ihevah\Zl_ey hldexq_gZ.

Kfhljb jZa^_e MklZgh\dZ aZsblu ihevah\Zl_ey \
=eZ\_ 5 AZsblZ.
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4.12 MijZ\e_gb_ k
dghihqghc
iZg_eb

0.35
(1.17)

MijZ\e_gb_ k dghihqghc iZg_eb

RO Bi S P

Ú

Ú

OL>

CL>

± [0.02]

± [0.02]

Ö

Ö

=p

h[/fbg

IZjZf_lj 0.35 ihdZa\u\Z_l qZklhlm/kdhjhklv�
dh]^Z Ijb\h^ mijZ\ey_lky k dghihqghc iZg_eb�

Kdhjhklv�qZklhlZ j_]mebjmxlky ke_^mxsbfb

dghidZfb mijZ\e_gby �dh]^Z ^bkie_c gZoh^blky

\ j_`bf_ bg^bdZpbb):

  

MklZgh\e_ggh_ agZq_gb_ Z\lhfZlbq_kdb

khojZgy_lky ijb hldexq_gbb iblZgby Ijb\h^Z�
Ijb ihke_^mxs_c ih^Zq_ iblZgby Ijb\h^

jZa]hgy_lky ^h lhc qZklhlu/kdhjhklb� dhlhjZy
[ueZ \uklZ\e_gZ ^h hldexq_gby.

4.13 Ihke_^h\Zl_evguc
bgl_jn_ck
IZjZf_lj�

ihdZau\Z_fuc gZ
^bkie__ ihke_
\dexq_gby iblZgby

0.36
(11.25)

Kdhjhklv h[f_gZ ^Zggufb q_j_a

ihke_^h\Zl_evguc ihjl

RW Txt P

Ú 4800 (0)
9600 (1)

19200 (2)

Ö 4800 [h^ �[bl/k�

Bkihevamcl_ iZjZf_lj 0.36 ^ey \u[hjZ
lj_[m_fh]h agZq_gby kdhjhklb i_j_^Zqb ^Zgguo

ih ihke_^h\Zl_evghfm dZgZem k\yab� < wlhf

kemqZ_ \ Ijb\h^_ ^he`_g [ulv mklZgh\e_g

^hihegbl_evguc fh^mev 8'�� ^ey K\yab ih
ijhlhdheZf ihke_^h\Zl_evgh]h h[f_gZ.

0.37
(11.23)

:^j_k ihke_^h\Zl_evgh]h ihjlZ

RW Uni P

Ú 0.0 ~ 9.9 Ö 1.1 =jmiiZ.
?^bgbpZ

Bkihevamcl_ 0.37 ^ey \u[hjZ lj_[m_fh]h Z^j_kZ
ihke_^h\Zl_evgh]h ihjlZ� G_ \\h^bl_ Z^j_k�

dhlhjuc kh^_j`bl ghev� l�d� hg bkihevam_lky ijb

Z^j_kZpbb ]jmiiu Ijb\h^h\. < wlhf kemqZ_ \

Ijb\h^_ ^he`_g [ulv mklZgh\e_g

^hihegbl_evguc fh^mev 8'�� ^ey K\yab ih
ijhlhdheZf ihke_^h\Zl_evgh]h h[f_gZ.

0.38
(11.22)

IZjZf_lj� ihdZau\Z_fuc ijb

ih^Zq_ iblZgby

RW Uni P

Ú 0.00 ~ 0.50 Ö 0.10

Ijb ih^Zq_ iblZgby i_j_f_ggh]h lhdZ iZjZf_lj

0.10 QZklhlZ�kdhjhklv ^\b]Zl_ey Z\lhfZlbq_kdb
\u[bjZ_lky dZd gZqZevguc iZjZf_lj�

hljZ`Z_fuc gZ ^bkie__� Wlh ijb\h^bl d

ke_^mxs_fm�

1. Ihke_ lh]h� dZd iblZgb_ i_j_f_ggh]h lhdZ
ih^dexq_gh d Ijb\h^m b ij_`^_ q_f \u[jZg

ex[hc ^jm]hc iZjZf_lj� agZq_gb_

iZjZf_ljZ 0.10 ihdZau\Z_lky gZ \_jog_f
^bkie__� Wlh iha\hey_l hkms_kl\eylv

l_dmsbc dhgljhev qZklhlu/kdhjhklb
^\b]Zl_ey [_a g_h[oh^bfhklb

^hihegbl_evgh \u[bjZlv iZjZf_lj.

2. ?keb aZl_f bkihevam_lky dghihqgZy iZg_ev

^ey \u[hjZ ^jm]h]h iZjZf_ljZ� agZq_gb_

wlh]h gh\h]h iZjZf_ljZ ihy\ey_lky gZ

^bkie__ gZ f_kl_ gZqZevgh]h iZjZf_ljZ.

>ey lh]h� qlh[u \u[jZlv ex[hc ^jm]hc

iZjZf_lj k bg^bdZpb_c gZ ^bkie__ \ dZq_kl\_

gZqZevgh]h� \\_^bl_ ghf_j gm`gh]h iZjZf_ljZ \

0.38 (gZijbf_j� qlh[u gZ ^bkie__ ihy\beky
0.12 AgZq_gb_ ihke_ jZfiu, \\_^bl_ 0.12).

4.14 KbgojhgbaZpby k
\jZsZxsbfky
^\b]Zl_e_f�

KZfhgZkljhcdZ�

QZklhlZ
i_j_dexq_gbc
RBF

0.39
(6.09)

KbgojhgbaZpby k \jZsZxsbfky

^\b]Zl_e_f

RW Bit

Ú

Ú

OL>

CL>

0 ~ 1

0 ~ 1

Ö

Ö

0

1

JZahfdgmlZy kbkl_fZ

MklZgh\bl_ 0.39 gZ 1 ^ey lh]h� qlh[u Ijb\h^

\k_]^Z Z\lhfZlbq_kdb kbgojhgbabjh\Ze k_[y k

^\b]Zl_e_f� _keb \ fhf_gl aZimkdZ Ijb\h^Z
^\b]Zl_ev m`_ \jZsZ_lky.

?keb Ijb\h^ aZimkdZ_lky� dh]^Z ^\b]Zl_ev m`_

\jZsZ_lky� b agZq_gb_ iZjZf_ljZ 0.39
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mklZgh\e_gh gZ 0, Ijb\h^ g_ fh`_l hij_^_eblv
kdhjhklv ^\b]Zl_ey� AZimkd Ijb\h^Z \uah\_l

lhjfh`_gb_ ^\b]Zl_ey ^h hklZgh\db lZd `_� dZd

b ijb lhjfh`_gbb ih^Zq_c ihklhyggh]h lhdZ�

AZl_f Ijb\h^ m\_ebqbl kdhjhklv ^\b]Zl_ey ^h
agZq_gby� khhl\_lkl\mxs_]h aZ^Zgghc qZklhl_�

AZf_qZgb_

Ijb\h^ fh`_l kbgojhgbabjh\Zlvky lhevdh k

h^gbf ^\b]Zl_e_f.  ?keb d Ijb\h^m ih^dexq_gh
[he__ h^gh]h ^\b]Zl_ey� wlZ nmgdpby g_ ^he`gZ

bkihevah\Zlvky.

AZf_qZgb_

>ey lh]h� qlh[u Ijb\h^ jZ[hlZe ijZ\bevgh \h

\j_fy b ihke_ kbgojhgbaZpbb� iZjZf_lj

0.07<u[hj kihkh[Z j_]mebjh\Zgby gZijy`_gby
^he`_g [ulv mklZgh\e_g gZ Fd.

Ijb\h^ gZqbgZ_l \uihegylv

ihke_^h\Zl_evghklv hi_jZpbc ijb h^ghc

q_l\_jlb ghfbgZevgh]h gZijy`_gby ^\b]Zl_ey

^ey lh]h� qlh[u hij_^_eblv qZklhlm�
khhl\_lkl\mxsmx kdhjhklb ^\b]Zl_ey�

<uiheg_gb_ ij_djZsZ_lky� dh]^Z qZklhlZ

\jZs_gby ^\b]Zl_ey hij_^_e_gZ�

Ihke_^h\Zl_evghklv hi_jZpbc \u]ey^bl

ke_^mxsbf h[jZahf:

1. QZklhlZ Ijb\h^Z mklZgZ\eb\Z_lky

fZdkbfZevghc �agZq_gb_ 0.02) k \jZs_gb_f
\ lhf gZijZ\e_gbb� dhlhjh_ [ueh m

^\b]Zl_ey ijb ihke_^g_f \dexq_gbb� �?keb

iblZgb_ Ijb\h^Z hl k_lb i_j_f_ggh]h lhdZ

ij_ju\Zehkv ^h ihiuldb kbgojhgbabjh\Zlv

_]h k \jZsZxsbfky ^\b]Zl_e_f� Ijb\h^

\k_]^Z aZimkdZ_lky \ ijyfhf gZijZ\e_gbb.)

2. QZklhlZ kgb`Z_lky ^h gmey� ?keb qZklhlZ

^\b]Zl_ey hij_^_e_gZ \ oh^_ kgb`_gby

\uoh^ghc qZklhlu Ijb\h^Z� l_kl

ij_djZsZ_lky� QZklhlZ Ijb\h^Z

mklZgZ\eb\Z_lky jZ\ghc gZc^_gghc qZklhl_

^\b]Zl_ey b Ijb\h^ [_j_l gZ k_[y
mijZ\e_gb_ ^\b]Zl_e_f.

3. ?keb qZklhlZ ^\b]Zl_ey g_ [ueZ

hij_^_e_gZ� Ijb\h^ gZkljZb\Z_lky gZ

fZdkbfZevgmx qZklhlm k \jZs_gb_f

^\b]Zl_ey \ ijhlb\hiheh`ghf gZijZ\e_gbb
b bkiulZgb_ ih\lhjy_lky.

4. ?keb qZklhlZ ^\b]Zl_ey \k_ _s_ g_

hij_^_e_gZ� qZklhlZ Ijb\h^Z

mklZgZ\eb\Z_lky gZ 0 =p b Ijb\h^ [_j_l gZ
k_[y mijZ\e_gb_ ^\b]Zl_e_f.

AZfdgmlZy kbkl_fZ

Ih mfheqZgbx 0.39 mklZgh\e_g gZ �� IZjZf_lj

0.12 AgZq_gb_ ihke_ jZfiu Z\lhfZlbq_kdb
mklZgZ\eb\Z_lky gZ \_ebqbgm h[jZlghc k\yab ih

kdhjhklb� AZl_f Ijb\h^ [_j_l gZ k_[y

mijZ\e_gb_ ^\b]Zl_e_f�

Dh]^Z 0.39 mklZgh\e_g gZ �� ^\b]Zl_ev [m^_l

aZf_^eylvky ih^ ^_ckl\b_f h]jZgbq_gby lhdZ

^h l_o ihj� ihdZ kdhjhklv ^\b]Zl_ey g_ klZg_l

khhl\_lkl\h\Zlv agZq_gbx 0.12 AgZq_gb_ ihke_
jZfiu�

0.40
(5.12)
(3.25)

KZfhgZkljhcdZ

RW Bit P

Ú 0 ~ 1 Ö 0

MklZgh\bl_ 0.40 gZ �� qlh[u gZqZlv

ihke_^h\Zl_evghklv l_klh\ KZfhgZkljhcdb�

Kfhljb jZa^_e KZfhgZkljhcdZ \ =eZ\_ 3
GZkljhcdZ Ijb\h^Z.

0.40 k\yaZg k iZjZf_ljZfb \ukhdh]h mjh\gy
ke_^mxsbf h[jZahf:

OL + CL> 5.12 Hij_^_e_gb_ gZfZ]gbqb\Zxs_]h
lhdZ jZaj_r_gh

SV> 3.25 Hij_^_e_gb_ nZau dh^bjmxs_]h

mkljhckl\Z jZaj_r_gh

0.41
(5.18)

Q:KLHL: I?J?DEXQ?GBCRBF

RW Txt P

Ú 3, 4.5, 6, 9, 12 Ö 3 d=p

Kfhljb jZa^_e QZklhlZ i_j_dexq_gbc RBF \
=eZ\_ � MklZgh\dZ Ijb\h^Z Jmdh\h^kl\Z ih
MklZgh\d_�

L_ieh\Zy aZsblZ

;eZ]h^Zjy gZebqbx bgl_ee_dlmZevghc l_ieh\hc

fh^_eb� Ijb\h^ wnn_dlb\gh b g_ij_ju\gh

dhgljhebjm_l l_fi_jZlmjm i_j_oh^h\ ,*%7 \

kbeh\hf dZkdZ^_� Dh]^Z jZkqzl ihdZau\Z_l� qlh

l_fi_jZlmjZ i_j_oh^h\ ijb[eb`Z_lky d
fZdkbfZevgh ^himklbfhc \_ebqbg_� \klmiZxl \

^_ckl\b_ ^\Z mjh\gy aZsblu�

1. Dh]^Z \u[jZgZ qZklhlZ i_j_dexq_gbc RBF

6 d=p� � d=p beb �� d=p� hgZ Z\lhfZlbq_kdb
ihgb`Z_lky \^\h_� Wlh mf_gvrZ_l

dhffmlZpbhggu_ ihl_jb \ IGBT.  (AgZq_gb_
iZjZf_ljZ 0.41 QZklhlZ i_j_dexq_gbc RBF

hklZ_lky lZdbf� dZdh_ mklZgh\be

ihevah\Zl_ev.)

 AZl_f� k bgl_j\Zehf \ h^gm k_dmg^m� Ijb\h^
[m^_l iulZlvky \_jgmlv qZklhlm

i_j_dexq_gbc RBF d bkoh^ghc \_ebqbg_�

Wlh m^Z_lky k^_eZlv� dh]^Z l_ieh\Zy fh^_ev

h[gZjm`bl \ j_amevlZl_ jZkq_lZ� qlh

l_fi_jZlmjZ ihgbabeZkv ^h ^himklbfh]h

mjh\gy.

2. ?keb l_fi_jZlmjZ i_j_oh^Z ijh^he`Z_l

jZklb �ba�aZ \uoh^gh]h lhdZ� b ihke_

kgb`_gby \^\h_ qZklhlu i_j_dexq_gbc

RBF� lh dh]^Z hgZ ^hklb]Z_l fZdkbfZevgh

^himklbfhc \_ebqbgu� Ijb\h^ hldexqZ_lky�
>bkie_c ihdZ`_l dh^ hldexq_gby Oh1.
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4.15 IZjZf_lju
^\b]Zl_ey

0.42
(5.11)

Qbkeh ihexkh\ ^\b]Zl_ey

RW Txt P

Ú

Ú

Ú

OL>

VT>

SV>

2 ~ 32

2 ~ 32

2 ~ 32

Ö

Ö

Ö

4

4

6

ihexkZ

ihexkZ

ihexkh\

<\_^bl_ qbkeh ihexkh\ ^\b]Zl_ey �g_ iZj
ihexkh\��

Kfhljb jZa^_e GhfbgZevgu_ ^Zggu_ ^\b]Zl_ey \

=eZ\_ � GZkljhcdZ Ijb\h^Z.

0.43
(5.10)

Dhwnnbpb_gl fhsghklb ^\b]Zl_ey

RW Uni S P

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 1.000

0 ~ 1.000

1

Ö

Ö

Ö

0.92

0.92

1.0

JZahfdgmlZy kbkl_fZ
AZfdgmlZy kbkl_fZ k \_dlhjguf

mijZ\e_gb_f

Dh]^Z bkihevam_lky KZfhgZkljhcdZ�

dhwnnbpb_gl fhsghklb ^\b]Zl_ey baf_jy_lky

Ijb\h^hf b khojZgy_lky \ 0.43.  <_ebqbgm _]h
fh`gh m\b^_lv ijb h[jZs_gbb d 0.43.  HgZ
fh`_l [ulv \ur_ \_ebqbgu� mdZaZgghc gZ sbld_

ghfbgZevguo ^Zgguo ^\b]Zl_ey.

?keb KZfhgZkljhcdZ g_ bkihevam_lky� \\_^bl_

khhl\_lkl\mxsmx \_ebqbgm dhwnnbpb_glZ
fhsghklb \ 0.43.

0.44
(5.09)

GhfbgZevgh_ gZijy`_gb_ ^\b]Zl_ey

RW Uni

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 480

0 ~ 480

0

Ö

Ö

Ö

400

460

0

<

<

<

JZahfdgmlZy kbkl_fZ

AZfdgmlZy kbkl_fZ k \_dlhjguf

mijZ\e_gb_f

<\_^bl_ agZq_gb_ kh sbldZ ghfbgZevguo

^Zgguo ^\b]Zl_ey� �Kfhljb jZa^_e GZkljhcdZ

Ijb\h^Z ih^ ^\b]Zl_ev \ =eZ\_ 3 GZkljhcdZ
Ijb\h^Z.)

0.45
(5.08)

GhfbgZevgZy kdhjhklv ^\b]Zl_ey

RW Uni

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 6000

0 ~ 30 000

0 ~ 30 000

Ö

Ö

Ö

0

1450 (?<JHI:)
1770 (KR:)

0

h[/fbg

H;/FBG

h[/fbg

JZahfdgmlZy kbkl_fZ

AZfdgmlZy kbkl_fZ k \_dlhjguf

mijZ\e_gb_f

<\_^bl_ agZq_gb_ kh sbldZ ghfbgZevguo

^Zgguo ^\b]Zl_ey.  (Kfhljb jZa^_e GZkljhcdZ
Ijb\h^Z ih^ ^\b]Zl_ev \ =eZ\_ 3 GZkljhcdZ
Ijb\h^Z.)

AZfdgmlZy k_j\hkbkl_fZ

HklZ\vl_ \ 0.45 mklZgh\dm gZ 0.  Wlhl iZjZf_lj
g_ bkihevam_lky \ ^Zgghf j_`bf_ jZ[hlu.

0.46
(5.07)

GhfbgZevguc lhd ^\b]Zl_ey

RW Uni

Ú 0 ~ LIG Ö LIG A

LIG y\ey_lky fZdkbfZevguf ^ebl_evgh

^himklbfuf \uoh^guf lhdhf Ijb\h^Z ^h

l_fi_jZlmju hdjm`Zxs_c kj_^u 40°C b qZklhlu
i_j_dexq_gbc RBF 3 d=p.

<\_^bl_ _]h agZq_gb_ kh sbldZ ghfbgZevguo

^Zgguo ^\b]Zl_ey.  ( Kfhljb jZa^_e GZkljhcdZ
Ijb\h^Z ih^ ^\b]Zl_ev \ =eZ\_ 3 GZkljhcdZ
Ijb\h^Z.)

0.47
(5.06)

GhfbgZevgZy qZklhlZ ^\b]Zl_ey

RW Uni

Ú

Ú

Ú

OL>

VT>

SV>

0 ~ 1000.0

0 ~ 1000.0

0

Ö

Ö

Ö

50 (E<J)
60 (krZ)

50 (_\j)
60 (krZ)

0

=p

=p

=p

JZahfdgmlZy kbkl_fZ

AZfdgmlZy kbkl_fZ k \_dlhjguf

mijZ\e_gb_f

<\_^bl_ agZq_gb_ kh sbldZ ghfbgZevguo

^Zgguo ^\b]Zl_ey.  (Kfhljb jZa^_e GZkljhcdZ
Ijb\h^Z ih^ ^\b]Zl_ev \ =eZ\_ 3 GZkljhcdZ
Ijb\h^Z.)
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4.16 <u[hj j_`bfZ
jZ[hlu Ijb\h^Z

0.48
(11.31)

<u[hj j_`bfZ jZ[hlu Ijb\h^Z

RW Txt R P

Ú (Kfhljb gb`_) Ö OPEN.LP

>ey 0.48 \hafh`gu ke_^mxsb_ mklZgh\db:

MklZgh\dZ J_`bf jZ[hlu

0 JZahfdgmlZy kbkl_fZ

1 AZfdgmlZy kbkl_fZ k \_dlhjguf

mijZ\e_gb_f

2 AZfdgmlZy k_j\hkbkl_fZ

3 >ey jZ[hlu \ wlhf j_`bf_
h[jZsZcl_kv d Bgkljmdpbb
Ihevah\Zl_ey <ukhdh]h Mjh\gy

Kfhljb jZa^_e Baf_g_gb_ j_`bfZ jZ[hlu \
=eZ\_ � GZkljhcdZ Ijb\h^Z.

J_`bf jZ[hlu g_ fh`_l [ulv baf_g_g \h \j_fy

jZ[hlu Ijb\h^Z.

4.17 BgnhjfZpby h
khklhygbb Ijb\h^Z

0.49 Khklhygb_ aZsblu

RO Bit

Ú 0 ~ 1 Ö 1

0.49 ghjfZevgh mdZau\Z_l gZ 1.  Wlh hagZqZ_l�
qlh ^hklmi d iZjZf_ljZf \ukhdh]h mjh\gy

g_\hafh`_g.

0.50
(11.29)

Ghf_j \_jkbb \kljh_ggh]h

ijh]jZffgh]h h[_ki_q_gby

RO Uni P

Ú 1 .00~ 99.99 Ö

4.18 IZjZf_lju FZdjhkZ 1
H[e_]qzgguc j_`bf

< Macro 1 bf_xlky ke_^mxsb_ iZjZf_lju:

Pr Nmgdpby Ki_pbZevgh
_ agZq_gb_

ihklZ\sbdZ

0.00 Dhgnb]mjZpby b khojZg_gb_

0.01 FbgbfZevgZy qZklhlZ/kdhjhklv

0.02 FZdkbfZevgZy qZklhlZ/kdhjhklv

0.03 <_ebqbgZ mkdhj_gby

0.04 <_ebqbgZ aZf_^e_gby

0.05 <u[hj kihkh[Z mijZ\e_gby

0.06 Ij_^_evguc lhd

0.07 OL>  <u[hj kihkh[Z j_]mebjh\Zgby
gZijy`_gby

CL>  Dhwnnbpb_gl mkbe_gby
ijhihjpbhgZevgh]h a\_gZ

\ dhglmj_ kdhjhklb

OL>  Fd

0.08 OL>  Nhjkbjh\dZ gZijy`_gby

CL>  Dhwnnbpb_gl mkbe_gby
bgl_]jbjmxs_]h a\_gZ \ dhglmj_

kdhjhklb

0.09 OL>  >bgZfbq_kdbc \u[hj V/f

CL>  Dhwnnbpb_gl mkbe_gby
^bnn_j_gpbjmxs_]h a\_gZ \
dhglmj_ kdhjhklb

0.10 OL>  Hp_gdZ kdhjhklb ^\b]Zl_ey

CL>  Kdhjhklv ^\b]Zl_ey

0.31 Ghf_j fZdjhkZ

0.32 J_`bf ihke_^h\Zl_evgh]h ihjlZ

0.33 GhfbgZevguc lhd Ijb\h^Z (LIG)

0.34 Dh^ ^hklmiZ ihevah\Zl_ey

0.35 MijZ\e_gb_ k dghihqghc iZg_eb

0.36 Kdhjhklv h[f_gZ ^Zggufb q_j_a
ihke_^h\Zl_evguc ihjl

0.37 :^j_k ihke_^h\Zl_evgh]h ihjlZ

0.38 IZjZf_lj� ihdZau\Z_fuc ijb

ih^Zq_ iblZgby

0.39 KbgojhgbaZpby k \jZsZxsbfky
^\b]Zl_e_f

0.40 KZfhgZkljhcdZ

0.41 QZklhlZ i_j_dexq_gbc RBF

0.42 Qbkeh ihexkh\ ^\b]Zl_ey

0.43 Dhwnnbpb_gl fhsghklb ^\b]Zl_ey

0.44 GhfbgZevgh_ gZijy`_gb_
^\b]Zl_ey

0.45 GhfbgZevgZy kdhjhklv ^\b]Zl_ey

0.46 GhfbgZevguc lhd ^\b]Zl_ey

0.47 OL + VT>  GhfbgZevgZy qZklhlZ
^\b]Zl_ey

0.48 <u[hj j_`bfZ jZ[hlu Ijb\h^Z

0.49 Khklhygb_ aZsblu

0.50 Ghf_j \_jkbb \kljh_ggh]h

ijh]jZffgh]h h[_ki_q_gby


